ECHNICAL INFORMATION

'II!A!,A!A!! l

51309

Subject » Changes on spindle,etc.
2601\ 6e =559 B 5703R(190mm Circular Saw)

Note P> Thisinformation applies to European countries.
P> As described below, several parts have been changed for improvement of strength.

» Current » New
Spindle
—2a -\
@) @) )
12mm 6mm
16mm [12mm L - amm
19mm L 14mm
Ball bearings Woodruff Key 4 and Flat Washer 6 are removed.
Herical gear Ball Bearin
g 626
Outer flange Ball bearing 608
Inner flange FIatWasher6 \@
Hex. socket :
Woodruff Key 4
Head Bolt ¥ o S
@ Herical Gear 41 @ Herical Gear 41
i (Inner diameter:12) (Inner diameter:14)
Ball Bearing
Ball Bearing 6002DDW
\ 6201DDW Inner Flange 40
Inner Flange 40 (Inner diameter:12) @ (Inner diameter:15)
Outer Flange 40 (Inner diameter:12) \ Outer Flange 40(Inner diameter:15)
Hex. Socket Head Bolt M6X 20 Hex.Socket Head Bolt M6X 16
Blade Case
Bearing Box Blade Case Blade Case

for Ball Bearing 626

for Ball Bearing 608

Hollow for not contact with Inner Flange 40




I nter changeability(1/C)

Item No.| Current part Qty 1/C New part Qty Note
11 |-Spinde 1 | Nol-Seindle ] 1 | Thispart will be used for A
322675-8 322922-7 model 5603R.
10 |-BalBeaing6201DDW |, |, |.Bal Bearing 6202DDW | The current remains
211129-9 211227-9 available.
15 |.Ball Bearing626 1 |No | BalBeaing608 | 1 The current remains
211019-6 211034-0 available.
o0 |.QuterFlanged0 1 |_Outer Flange40_ | 1 The current remains
224306-4 No [ 224338-1 available.
1 |-lnnerFigured0 1 | No |-JnerFigure40 | 1 The current remains
224307-2 224339-9 available.
13 | Hericd Geardl 1 | No | Hericll Gear41 | 1 | Thecurrent remains
226447-2 2264731 available.
Hex. Socket Head Bolt 1 Hex. Socket Head Bolt
21 | M6X20 No | M6X16 | 1 Interchangeable as a set
266024-8 266139-1
BearingBox | 4 | nol.d BeaingBox |
9 3560 1| Not-=i6884-0 .
_Blade Case Complete | 4 No |- Blade Case Complete |,
25 | 1524530 071505455
Woodruff Key 4
12 - '2'5'401']:_'9' o '@{ """"" 1 | preeemmeeeeeee o
Flat Washer 6
¥ Ioerize2 T ol D

I mplementation

5703R : From Apr.,1996



